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4. 2TV EERGER/NEE_HREHFEIRE--BWR: P2 (RFRIERE:P2->P2)

PNA21-01[#8/E]: P2 [Z[R4&#]:AR03 BIEFE S | Efl#w: BRI 1 [X1:4207,Y1:+174]

buichely =
SRR (1) P3-BENK(BEE). BIETAMK(HEE)
FR~T:
5.55*13.18 = 73.149 m2
LA E/NET: +73.149 = 73.149 m2

EEEtE:
BEM (1) P-BEHK(BEE). BIETFEHK(BEE) =>(EE8EE RCIE+HEE+EfRRH)GER PRI AKSHE)
IR EE:0.00m, #HRIFR1E: 0.30m
R~
B
" +/NERM-(BEEBEESE(FE1E)] 5.550*0.30 = 1.665 m2
B2
5 +HMR-(BEEESE(ESE)] 13.175%0.30 = 3.953 m2
B3
5 +/NERM-(BEEBEESE(FE1E)] 5.550*0.30 = 1.665 m2
B4

+H/MR-(BEEESE(ESE)] 13.175%0.30 = 3.953 m2
Ll EZER/NEE: =11.235m2

OO0 00000000 : [5EAEN]0.00 m2
PAE/NEE: +11.235 = 11.235 m2
BOo o

PNA21-01[{&&8]: P2 [Z2f4&#E]):AR03 BTEFA - F1  Z2RlimsE: ALEREE: 2 [X1:+207,Y3:+9174]

HiEEHE:
ML (1) FA-Hh P EE R S (B A RRIB L SE R B TR AE)
FR~T:
5.55*13.18 = 73.149 m2
LA E/NET: +73.149 = 73.149 m2

EBmEaitE:
®BOo o
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